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Q.1) T8 & Tl Spfd H a || m B | x BT HF &I |
(A) 115 (B) 25 ©

Pratham

Q) 23 (D) 13 £
Ans. (C) 23

Q.2) [P YT ABC & e FE T SH-M HYT AT © |
(A) AB + BC > AC (B) AB + BC < AC

(C) AB + BC = AC (D)AB+BC+AC=0  Ans. (A) AB + BC > AC
Q.3) 3T | FHIR m b TUT p THITR q P a6 £3 TUT 257 |

(A) THI<R DIV & g1

(B) TNuifigE 1ol & g

(C) T ®IUlf & g

(D) 3id: PIVN &b T Ans. (C) T DIUI & g
Q4) TH YT A G IS | -

(A) & FHSBI

(B) &I SHfIP PIuT

(C) 31 ¥ 3HfUPH &l A PIvT
(D) T =g BT Ans. (D) T =gH BT

Q.5) If two acute angles of a right triangle are equal, then the measure of each of
these angles is :

e fobddl GBI FAYS & Gl gADIU SRTeR &I, 1 370 I YA ol J1Y g :

(A) 45° (B) 50°

(C) 60° (D) 75° Ans. (A) 45°

Q.6) FEfeiad # A 19 I HIv1 Ays & 3id: S b & ?
(A) 65°, 45°TTUT 80° (B) 90°, 30° AYUT 61°
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(C) 60°, 60° dYT 59° (D) 60°, 40° ddT 80°
Ans. (D) 60°, 40° dyT 80°

Q.7) In the figure, given here, AB = AC. The measure of 2 BAC is :
Tgl <) Tt 3 W AB = AC B | 2 BAC &t AT g1t : A

(A) 24° (B) 36°
(C) 54° (D) 72°

108°
Ans. (B) 36° 5 c 5

Q.8) I Tl FAYS &1 TH HI07 120 81,31 Y & 30 & FIVI & FHGHTSD! & o
g HIUI(180° T HH) BT AT SR :

(A) 72° (B) 108°
(C) 150° (D) 154°

Ans. (C) 150°

AYST BT TD DIV 2A = 120°

3 G DI b JHTGHTST] & St S DI (180°H BHH) I HIY BT
4B+ 2C = 180° — 120° = 60°

31d: 20BC + 2OCB = 30°
AOBC H ~BOC = 180° — 30° = 150°

Q.9) In the figure given below, if |  mand p, q

are transversals. Find the value of x +y.

I 1% empfa | afd | Im T p, g fad®
wﬁ},%ﬁhx +yWW$ﬂT‘TW|

Ansijﬁﬂ”mxﬁ?pﬂqﬁlﬁi@%

X = 11o°3?|qy= 150° (H7Td DIV SRTSR BId 2)
x +y=110° + 150°

X +y =260°

m= Second Chance Program
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Q.10) 3P, AB Uh TR X1 § | x BT A T1d I | o
B9 - AB U TR XA © |
MY 5x +10 + 5x = 180° (U AP T}
10x + 10 = 180°
10x = 170°

x =17°

Q.11) In figure, AB is a straight line. Find x.

TP H, AB Teh TRA T § | x BT M JTd Bifomd |
(7x + 10) ° + (3x) ° = 180° {UH WA W R § HIUI HI TR 180°Id &)
(10x) ° + 10 ° = 180°
(10xF = 180° - 10°
(10xP = 170°

_170°

4]
= (7x+10)
10 .

o
(3%)

x =17 H P =

Q.12) Angles of a triangle are in the ratio 2 : 3 : 7. Find the measure of the smallest

angle of the triangle.

P AT F HI02:3: 7 F U A § | AYS & Ta9 BIC HIU HT AT 1d BHifod

ryst & = o &1 AN =180° AT 6 HT BN x B UG H § |
By % B0 b SR PIAT = 243 +7 =12 To PIUT = 2x
E] q BICT HIU ft g R = &
H\_J‘TW NESESIERED IW\’HjMId DYH maﬂm -
T 2 BT 3T § 3fc: 2x + 3x + 7x = 180°

BIS T Fa ST H10 = 2 x 180° 12x = 180°

180

YT BT T BT ST = 2 x 15° 11520
NE=

& B HIVHMA = 2 (15°) = 30°
Y BT T BleT BI0T = 30° RAYS & o Bl HIU BT 1Y

— = 30°8NT |

m= Second Chance Program
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Q.13) Prove that the sum of the three interior angles of a triangle is always 180°.

Bryst & i1 1o 1 N 180° Bl § Rig BT 2

fear T g - A4BC P

\.

RIg AT - LA + £B + £C = 180°

T : BC & IR Ueh 341 PQ Wi |
SUUfd: PQIIBC TWT € | 31d:

£B=2s1, £C = £2{ THIR DI}

21 + £A + 22 = 180° {ng
JHEO H £1 = ¢B, dz22=¢C TG R

4B+ 2A+ 2C =180

[EIT LA+ 2B+ 2C = 180°]

m= Second Chance Program




